1. B3x2+6xy—y?)—(x+y)(x—7v): R/ 2x% + 6xy
(34 6y ") -y ™)
3x 4 6xy '\/1' X ey’
2x4 éxy

2. 2-b)*-(1+b)? - R/3 —6b
Y =Y +b® - (14 2b4h%):

Y-qbtb™-[-2b-}2=

3-6b

3. (4x?+6xy—vy3)—Q2x+y)2x+y) R/ 2xy — 2y?
(Yx 46y o) = (A Ay +y) -
Ax+6xy -y x4 xy<y*=
2xy —Zyz

4. (a>—-b)>*—(a®+b)(a+Db)= R/ —a3b — 2a?b — ab
R-00tb 4h - (o42b thath?)
PR I O P R N S

-Za:.L -og Lj - LD\

5. (a—b)(2a+b) — (a—3b)? R/ a? + 5ab — 10b?
(Lrok -20b-bY) - (e*-6ob+abl) -
'é_c.""fﬂ_lﬂ - ;&L -b 7‘»‘_93“ +6J_~L S b=
0&.7""";0\10 -(0Lm

6. (2m —5n)3 + (45m°n? + 90m3n*) = m3n R/ 8m3 — 15m?n + 150mn? — 35n3
45mn" +T10m 0"

|
Y @m7-3-‘|ﬁn43-1m-7_¥,\*— ) + —mnomn

it -60 m4 (50 mn*- [15n + Y8min +90p? =

|

gm‘— lqmin £ 150 mn - 350’



Factorice al maximo las siguientes operaciones:

7. 3(x—y)? —2(x* —y?):= R/(x — y)(x — 5y)
k14 3 (ay - T (xey) (key) 2
x(3-2 () [30-Y) - L (xey)=

(x-)( 3x-3y - 25-%) -
(-r)(x-5y)

8. 9m?—n?—-16—8n RFBm+n+4)3m—-—n—-4)
N B NE
°lm‘-(nz+$n|6):
At - [pev)’ =
(3m —n-‘l)('&mmw)

9. 6y — 3x% — 6x + 32 R/3(y—x)(y+x+2)
3(1w 2x+y)=
SII'Zy )

32 (=R +fy- 0)(yx))
J&y-R)(2 4y +x)

10. 16x3 — 4x R/4x(2x +1)(2x —1)
Yx (1x*- 1)
qK(Zx'\) (’Lu\)

11.y3 4+ 3y%2 + 2y + 6 R/ (y+3)(y* +2)
(2)/ ty)+ (3+6)=
y(14y?) +3(y*42) -
(ytD(2+y?)
! 12. 16x* — 72x%y? + 81y* R/ (2x + 3y)%?(2x — 3y)?

49 l: —SGx'y“ 36y -qy”
Yx s

+
(e

~
N

-9
(2x- 3)9 h (24 43\/)1’

13. x2(2 + 3x) + 4(—3x — 2)- R/(2+3x)(x+2)(x—2)
x~(243x) -4 (3x42) =
(x2-4)(243x) =
(-2 +2) (2+3)

14. x® — 4x° + 5x* — 5x% + 4x — 1 "‘M' _'_L',Lg‘ R/ (x —1)%(x+1)
(—\)(‘\ 3x1lx-&2x—§x+l) ( _:Ll: I

(*("—»(_) f*-l) (x-1) (x Z*"‘Zx) - 2 =

X (x-1) -1k~ ') (x- l):()\xx . (;\3 ')(K'D‘{(?\" ) ("(i\)

B

15.x% + 7x3 — 8 R/I(x+2)(x* —2x+4)(x—1D(x*+x+1)
X’ 2
X -}
(x*+8)(x>-1) =

(X4 2) (% 2x + W) (£-D (€2 x 57
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